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3.1 	
����
���� 1: ���
��������
��
������������ �����
�� 
��
����!�	" �

      �
�

3.1.1 ���	�
��
����������	���	���
�	������
�	���
�������

3.1.1.1. ���� ����!�"#�	$
	�

���� ����!�"#�	$
	�
�
�������
%"#&�����
� ��'�(�"�%�%��� 5 �*	� 	�
������
��

���%��
� 6 ��,�� - .�
$�������
("���� ����!�"#�	$
	�
�.�#(�*��/��	�(�����
�����%��
� ���
����0�1�.%"# 4 ����(2#
���#(%�����%��
� .�
$�&($("3
�(�	�	$�����%���4�	� (p>0.05) �
�����
 ����!�"#�	$
	�
���
�*$0�9$
� 2.24±0.01-2.26±0.01 ���( ���0���,�� -%"# 6 .�
$�������
%"#&������"
�%� 4 �,
�-�=>�	- ("��
���(���� ����!�"#�	$
	�
�*�%"#��� (12.23±0.14)
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      3.1.1.2 ���� ���%"#�.�#(�/�� 
�	�����������	���	����.�� 
�	������
�	�� 
�	��
����,�"#��
� ���,A���2�
 ,��(�B
� ��%"#�������

     3$����� ���%"#�.�#(�/�� 
�	�����������	���	����.�� 
�	������
�	�� 
�	�����
�,�"#��
� ���,A���2�
 ���,��(�B
� ��%"#������
���
� ��0��	$��
��%��� 5 �*	� �,A������
�� 6 
��,�� - ����0�	����%"# 13 .�
$�������
%"#&�����
� ��%��� 5 �*	�("�,
�-�=>�	-���� ���%"#�.�#(�/��
�*$
0�9$
� 404.00±17.52-440.33±9.07 �,
�-�=>�	- ���������
%"#&�����
� ��'�(�"�%� 4 �,
�-�=>�	- ("
�,
�-�=>�	-���� ���%"#�.�#(�/���*���� =/#��	�	$��
�$��("������3�����9��3
�3�(     


�	�����������	���	����.��.�
$�������
%"#&�����
� ��'�(�"�%� 4 �,
�-�=>�	- ("
��
���(
�	�����������	���	����.���*��
$�������
%"#&($&�����
� ��'�(�"�%�=/#�("3$��%$���� 
4.01±0.06 �,
�-�=>�	- ��� 3.85±0.08 �,
�-�=>�	- 	�(������ ���9��%"#&������"�%� 4 �,
�-�=>�	- ("

�	�����������	���	�*�����	�	$��
�$��("������3�����9��3
�3�(

  
�	������
�	���
�������
%"#&�����
� ��%��� 5 �*	� &($("3
�(�	�	$��%���4�	� 
(p>0.05) ���("3$�
�*$0�9$
� 94.67±7.57-99.33±1.15 �,
�-�=>�	-

 
�	������,�"#��
� ���,A���2�
�
�������
%"#&�����
� ��%��� 5 �*	� &($("3
�(�	�
	$��%���4�	� (p>0.05) ���("3$�
�*$0�9$
� 1.75±0.09-1.85±0.18

   ��� ���,��(�B
� ��%"#�������	$
	�
	$

��%��� 5 �*	� &($("3
�(�	�	$��%���4�	� 
(p>0.05) ���("3$�
�*$0�9$
� 0.39±0.02-0.43±0.01 ���(	$
	�
	$

��
 �
�
���� 13 ���� ���%"#�.�#(�/�� 
�	�����������	���	����.�� 
�	������
�	�� 
�	������,�"#��

      
� ���,A���2�
 ���,��(�B
� ��%"#������� %"#&�����
� ��'�(�"�%������	$�� F �,A�
      �����
�� 6 ��,�� -1

1	�
���%"#������
�,A�3$��!�"#�±3$���"#�����(�	�G�� �����
(*� 3 =���
 	�
���0���(1-%"#��������
�
��H�	$����� ("3
�(�	�	$�����
�$��("������3��%���4�	�%"#�����3
�(�92#
(�#� 95 
�,
�-�=>�	- (p<0.05)

9�����%��
� �,
�-�=>�	-����
 ���%"#�.�#(�/��


�	�����������	���	
����.��

(�,
�-�=>�	-	$

��)


�	�����
�
�	��

(�,
�-�=>�	-)


�	�����
�,�"#��
� ��
�,A���2�


,��(�B
� ��%"#
�������

(���(	$
	�
	$

��)
9��3
�3�( 404.00 ± 17.52a 3.85 ± 0.08a 98.67 ± 1.15a 1.79 ± 0.09a 0.39 ± 0.02a

�"�%� 1 �,
�-�=>�	- 420.00 ± 5.29ab 3.92 ± 0.03ab 94.67 ± 7.57a 1.85 ± 0.18a 0.42 ± 0.04a

�"�%� 2 �,
�-�=>�	- 420.00 ± 2.65ab 3.91 ± 0.02ab 99.33 ± 1.15a 1.75 ± 0.09a 0.39 ± 0.02a

�"�%� 3 �,
�-�=>�	- 425.00 ± 24.02ab 3.94 ± 0.11ab 98.00 ± 2.00a 1.77 ± 0.14a 0.40 ± 0.03a

�"�%� 4 �,
�-�=>�	- 440.33 ± 9.07b 4.01 ± 0.06b 98.00 ± 3.46a 1.83 ± 0.08a 0.43 ± 0.01a
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                   3.1.1.3. '��
��"�%�	$
3
�(	���%����3 Vibriosis ���3
�(��(��40����
�������92�
��3%"��"�0�������2
� (Clearance ability of bacteria)

'��
��"�%�	$
3
�(	���%����3��3%"��"���2
���� (Vibriosis) ���������
%"#&��
���
� ��%"#�	�	$����� 5 �*	� %"#%��
��92�
�,A������
�� 10 
�� ����0�	����%"# 14 .�
$�
�	��
����
�	���
�������

�*$0�9$
� 23.33±15.27-56.67±11.55 �,
�-�=>�	- �	$&($.�3
�(�	�	$�����
%���4�	� (p>0.05) ���
�	������
�	���
�������
%"#&�����
� ��%"#'�(�"�%� 4 �,
�-�=>�	- ("��

���(%"#��("3
�(	���%����3&���"�
$�9�����%��
�
2#� �$
�3
�(��(��40�����������92�

��3%"��"�0�������2
��
�������
%"#&�����
� ��%"#�	�	$����� 5 �*	� 1��0������
�� 3 9�#
�(� .�

$�,��(�B�92�
��3%"��"�%"#!"�����	�
���������	�	$�����0�������
%"#&������"�%�%"#������	�	$����� 
1��0��
�� 3 9�#
�(� ���%������,�"���%"������92�
��3%"��"����#(	��%"#("3$��%$���� 6.1 × 106 �3���"/
(������	� ����0�	����%"# 14 =/#�.�
$�����%"#&�����
� ��'�(�"�%� 3 �,
�-�=>�	- (",����%Y�1�.0�
����������92�
��3%"��"��"�
$�����%"#&�����
� ��9��3
�3�( 32
 0.04±0.01 ×104 �3���"/(������	� ��� 
2.70±1.40 ×104 �3���"/(������	� 	�(������

�
�
���� 14 
�	������
�	��������!"��92�
 V. harveyi ��� ����������92�
��3%"��"�0�������2
�����1

9�����%��
� 
�	������
�	��������!"�
�92�
 V. harveyi
(�,
�-�=>�	-)

,��(�B�
��92�
 V. harveyi  %"#
.�0�������2
� ������!"��92�

,��(�B ×107 �3���"/(������	�
(×104 �3���"/(������	�)

9��3
�3�( 23.33 ± 15.27a 1.33 ± 0.26b

�"�%� 1 �,
�-�=>�	- 36.67 ± 20.81a 2.70 ± 1.40c

�"�%� 2 �,
�-�=>�	- 50.00 ± 10.00a 0.37 ± 0.35ab

�"�%� 3 �,
�-�=>�	- 43.33 ± 30.55a 0.04 ± 0.01a

�"�%� 4 �,
�-�=>�	- 56.67 ± 11.55a 0.23 ± 0.19ab

1	�
���%"#������
�,A�3$��!�"#�±3$���"#�����(�	�G�� �����
(*� 3 =��� (���
������������92�
��3%"��"�
0�������2
�����("��
(*� 5 =���)
	�
���0���(1-%"#��������
�
��H�	$����� ("3
�(�	�	$�����
�$��("������3��%���4�	�%"#�����3
�(
�92#
(�#� 95 �,
�-�=>�	- (p<0.05)
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�"�%� 2 �,
�-�=>�	-

�"�%� 3 �,
�-�=>�	-

�"�%� 4 �,
�-�=>�	-

#
$��� 5 
�	������
�	���
�������
%"#&������92�
 V. harveyi �����
�� 10 
�� 1�� ���������

� ��%"#'�(�"�%������	$�� F ��� 6 ��,�� -

3.1.1.4. ,��(�B
���>3�	�&�	-0�������2
��
�������
������%��
�3
�(	���
%��3
�(�3�"���������,�"#���,��3
�(�3>(

,��(�B�
�

��(����	"�0�������2
��
�������
%"#��"�����
�
� ��%��
� 2 �*	� 
32
 
� ��0�9��3
�3�( ���9���"�%� 4 �,
�-�=>�	- 0�����%���3
�(�3>( 15 ."."%" ��� 40 ."."%" 
�����
�� 6 9�#
�(� .�
$�,��(�B

��(����	"��
�������
%"#��"���0�3
�(�3>( 15 ."."%" 0�
� ��
%��
�%��� 2 �*	� &($("����,�"#���,���
�,��(�B

��(����	"�	�
������
�� 6 9�#
�(� (p>
0.05) (	����%"# 15) �	$�(2#
("����,�"#���,��3
�(�3>(���
.�
$�,��(�B

��(����	"�("3$��.�#(�*��/��
0��	$��9$
��
�� ����(2#
������������
��%"#09�0����%��
�&($.�3
�(�	�	$���
�,��(�B

�
�(����	"�0�����%"#&�����
� ��%��� 2 �*	� (p>0.05) ���,��(�B

��(����	"��
�������
%"#&�����
� ��
�*	�3
�3�((",��(�B	#�����32
 965.00±42.43 (����

��(�	$
��	� ���,��(�B

��(����	"��
�
������
%"#&������"�%� 4 �,
�-�=>�	-(",��(�B�*����32
 999.00±8.49 (����

��(�	$
��	� ����(2#
���
3$�%"#&��(�
��3��� -3$�� ��(.��Y-.�
$��
��("'�	$
,��(�B

��(����	"� (p<0.01) ����(2#
�
���.�#(
(���/���>��%��0 �3$�

��(����	"��.�#(�*��/�� (0.842)

,��(�B�=��"�(�
�������
%"#&�����
� ��%��
� 2 �*	� 0�����%���3
�(�3>( 15 
."."%" ��� 40 ."."%" �����
�� 6 9�#
�(� .�
$�,��(�B�
��=��"�(0�������
%"#��"���0�3
�(�3>( 15 
."."%" &($("����,�"#���,��	�
������
�� 6 9�#
�(� (p>0.05) (	����%"# 15) ����(2#
("����,�"#��
�,��3
�(�3>(���
.�
$�,��(�B�
��=��"�(("3$��.�#(�*��/��0��	$��9$
��
�� ����(2#
�����������
�
��%"#09�0����%��
�&($.�3
�(�	�	$���
�,��(�B�=��"�( (p>0.05) ���,��(�B�=��"�(�
�
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������
%"#&�����
� ���*	�3
�3�(("3$�	#�����32
 417.00±9.89 (�����(�	$
��	� ���,��(�B�=��"�(
�
�������
%"#&������"�%� 4 �,
�-�=>�	-(",��(�B�*����32
 435.00±4.24 (�����(�	$
��	� ����(2#
���
3$�%"#&��(�
��3��� -3$�� ��(.��Y-.�
$��
��("'�	$
,��(�B�=��"�( (p<0.01) ����(2#
�
���.�#((��
�/���>��%��0 �3$��=��"�(�.�#(�*��/�� (0.895)

,��(�B3�
&��-�
�������
%"#&�����
� ��%��
� 2 �*	� 0�����%���3
�(�3>( 15 
."."%" ��� 40 ."."%" �����
�� 6 9�#
�(� .�
$�,��(�B�
�3�
&��-0�������
%"#��"���0�3
�(�3>( 15 
."."%" &($("����,�"#���,��	�
������
�� 6 9�#
�(� (p>0.05) (	����%"# 15) ����(2#
("����,�"#��
�,��3
�(�3>(���
.�
$�,��(�B�
�3�
&��-("3$��.�#(�*��/��0��	$��9$
��
�� ����(2#
�����������
�
��%"#09�0����%��
�&($.�3
�(�	�	$���
�,��(�B3�
&��- (p>0.05) ���,��(�B3�
&��-
�
�������
%"#&�����
� ���*	�3
�3�(("3$�	#�����32
 418.50±13.44 (�����(�	$
��	� ���,��(�B
3�
&��-�
�������
%"#&������"�%� 4 �,
�-�=>�	-(",��(�B�*����32
 432.50±4.95 (�����(�	$
��	� 
����(2#
���3$�%"#&��(�
��3��� -3$�� ��(.��Y-.�
$��
��("'�	$
,��(�B3�
&��- (p<0.01) ����(2#

�
���.�#((���/���>��%��0 �3$�3�
&��-�.�#(�*��/�� (0.918)
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�
�
���� 15 ,��(�B�
�

��(����	"� �=��"�( ���3�
&��-0��1�.,�	�����(2#
("���
      �,�"#���,��3
�(�3>(0������
��%"#�	�	$�����1

9�����%��
� �
��
(9�#
�(�)



��(����	"�
((����

��(�	$
��	�)

�=��"�(
((�����(�	$
��	�)

3�
&��-
((�����(�	$
��	�)

9��3
�3�( (15 ."."%") 0 655.50 ± 4.95a 274.00 ± 0.00a 289.00 ± 1.41a

1 675.00 ± 1.41a 286.00 ± 0.00a 297.50 ± 2.12a

3 628.00 ± 7.07a 273.00 ± 4.24a 286.50 ± 3.54a

6 644.00 ± 1.41a 265.00 ± 4.24a 278.50 ± 4.95a

9��3
�3�( (40 ."."%") 0 655.50 ± 4.95a 274.00 ± 0.00a 289.00 ± 1.41a

1 808.50 ± 57.28bc 347.00 ± 66.47bc 376.00 ± 19.79b

3 949.50 ± 67.18d 408.00 ± 14.14de 420.00 ± 25.46c

6 965.00 ± 42.43d 417.00 ± 9.89e 418.50 ± 13.44c

�"�%� (15 ."."%") 0 651.00 ± 0.00a 274.00 ± 0.00a 283.00 ± 4.24a

1 669.50 ± 2.12a 283.50 ± 2.12a 296.50 ± 7.78a

3 682.00 ± 18.38a 281.50 ± 0.71a 299.00 ± 1.41a

6 658.50 ± 16.26a 268.50 ± 2.12a 280.50 ± 4.95a

�"�%� (40 ."."%") 0 651.00 ± 0.00a 274.00 ± 0.00a 283.00 ± 4.24a

1 761.50 ± 3.54b 333.50 ± 6.36b 360.50 ± 13.44b

3 859.50 ± 20.51c 377.00 ± 7.07cd 375.00 ± 7.07b

6 999.00 ± 8.49d 435.00 ± 4.24e 432.50 ± 4.95c

9�����%��
� p<0.05 p<0.05 p<0.05
�
�� p<0.05 p<0.05 p<0.05

9�����%��
�×�
�� p<0.05 p<0.05 p<0.05

1	�
���%"#������
�,A�3$��!�"#�±3$���"#�����(�	�G�� ���	�

�$����2
����� 2 	�

�$��	$
9�����
%��
�
3$��!�"#�0���(1-%"#("	�

��H�	$����������� ("3
�(�	�	$�����%���4�	�%"#�����3
�(�92#
(�#�
95 �,
�-�=>�	- (p<0.05)
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3.2 	
����
���� 2: ���
��������
(��"��
��)��!�	" ��
�

3.2.1 ���	�
��
����������	���	���
�	������
�	���
�������

3.2.1.1 ���� ����!�"#�	$
	�

���� ����!�"#�	$
	�
�
�������
%"#&�����
� ��'�(�"�%�%��� 3 �*	� 0�3
�(�3>( 2 

."."%" ��� 25 ."."%" 	�
������
�����%��
� 6 ��,�� - .�
$�������
("���� ����!�"#�	$
	�
�.�#(�*�
�/��	�(�����
�����%��
� �������0�	����%"# 16 ����(2#
���#(%�����%��
����� ����!�"#�	$
	�

&($("3
�(�	�	$�����%���4�	� (p>0.05) 
�*$0�9$
� 10.22±0.12 ���( 4/� 10.27±0.10 ���( ���0�
��,�� -%"# 6 .�
$�3
�(�3>(("'�	$
������
%"#��"���0�3
�(�3>( 25 ."."%" ���("���� ����!�"#�	$
	�
�*�
�
$�������
%"#��"���0�3
�(�3>( 2 ."."%" 
�$��("������3��%���4�	� (p<0.05) ���("���� ����!�"#�	$
	�

�%$���� 15.41±0.55-15.64±0.49 ���( ��� 14.27±0.65-14.32±0.31 ���( 	�(������

3.2.1.2 ���� ���%"#�.�#(�/�� 
�	�����������	���	����.�� 
�	������
�	�� 
�	��
����,�"#��
� ���,A���2�
 ���,��(�B
� ��%"#�������

3$����� ���%"#�.�#(�/�� 
�	�����������	���	����.�� 
�	������
�	�� 
�	�����
�,�"#��
� ���,A���2�
 ���,��(�B
� ��%"#������
���
� ��%��� 3 �*	� �,A������
�� 6 ��,�� - 
����0�	����%"# 17 .�
$�3
�(�3>(("'�	$
�,
�-�=>�	-���� ���%"#�.�#(�/���
�������
%"#��"���0�3
�(
�3>( 25 ."."%" ���.�
$�("3
�(�	�	$��%���4�	� (p<0.05) ���("�,
�-�=>�	-���� ���%"#�.�#(�/���*��
$�
������
%"#��"���0�3
�(�3>( 2 ."."%" =/#�
�*$0�9$
� 51.16±5.58-51.89±1.79 �,
�-�=>�	- ��� 39.11±
2.71-40.47±6.32 �,
�-�=>�	- 	�(������

    
�	�����������	���	����.�� .�
$�3
�(�3>(("'�	$

�	�����������	���	����.��
�
�������
%"#��"���0�3
�(�3>(%"# 25 ."."%" ���.�
$�("3
�(�	�	$��%���4�	� (p<0.05) ���("
�	��
���������	���	����.���*��
$�������
%"#��"���0�3
�(�3>( 2 ."."%" =/#�
�*$0�9$
� 0.98±0.10-0.99±0.08 
�,
�-�=>�	- ��� 0.78±0.05-0.81±0.11 �,
�-�=>�	- 	�(������

   
�	������
�	���
�������
%"#&�����
� ��%��� 3 �*	� %"#��"���0�3
�(�3>( 25 ."."%" 
��� 2 ."."%" &($("3
�(�	�	$��%���4�	� (p>0.05) ���("3$�
�*$0�9$
� 94.75±5.25-100.00±0.00 
�,
�-�=>�	- ��� 95.00±5.00-96.75±3.25 �,
�-�=>�	- 	�(������

   
�	������,�"#��
� ���,A���2�
�
�������
 .�
$�3
�(�3>(("'�	$

�	������,�"#��

� ���,A���2�
�
�������
 ���("3
�(�	�	$��%���4�	� (p<0.05) ���������
%"#��"���0�3
�(�3>( 25 
."."%" ("
�	������,�"#��
� ���,A���2�
%"#	#���
$�������
%"#��"���0�3
�(�3>( 2 ."."%" ���������
%"#&�����
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�"�%� 4 �,
�-�=>�	- ��"���0�3
�(�3>( 25 ."."%" ("
�	������,�"#��
� ���,A���2�
%"#	#��%"#���32
 2.17±
0.16

��� ���,��(�B
� ��%"#�������	$
	�
	$

��%��� 3 �*	� %"#��"���0�3
�(�3>( 25 ."."%" 
��� 2 ."."%" &($("3
�(�	�	$��%���4�	� (p>0.05) ���("3$�
�*$0�9$
� 0.27±0.01-0.29±0.01 ���(	$

	�
	$

�� ��� 0.28±0.01-0.28±0.02 ���(	$
	�
	$

�� 	�(������
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�
�
���� 16 ���� ����!�"#�	$
	�
 �,
�-�=>�	-���� ���%"#�.�#(�/�� 
�	�����������	���	����.�� 
�	������
�	�� 
�	������,�"#��
� ���,A���2�
 ���,��(�B
� ��
      %"#��������(2#
&������"�%�%"#�����	$�� F �,A������
�� 6 ��,�� -1

3
�(�3>(
(."."%")

������"�%�
(�,
�-�=>�	-)

���� ������#(	��
(���(/	�
)

���� ������%���
(���(/	�
)

���� ���%"#�.�#(�/��
(�,
�-�=>�	-)


�	����������
�	���	����.��
(�,
�-�=>�	-	$



��)


�	������
�	��
(�,
�-�=>�	-)


�	������,�"#��

� ���,A���2�


,��(�B
� ��%"#
�������

(���(	$
	�
	$


��)

2 0 10.22 ± 0.12 14.30 ± 0.69a 40.47 ± 6.32a 0.81 ± 0.11a 95.00 ± 5.00 3.50 ± 0.84b 0.28 ± 0.02
4 10.25 ± 0.14 14.27 ± 0.65a 39.44 ± 6.40a 0.79 ± 0.11a 96.50 ± 3.50 3.23 ± 0.31b 0.28 ± 0.01
8 10.27 ± 0.10 14.32 ± 0.31a 39.11 ± 2.71a 0.78 ± 0.05a 96.75 ± 3.25 3.34 ± 1.04b 0.28 ± 0.02

25 0 10.27 ± 0.10 15.64 ± 0.49b 51.86 ± 5.14b 0.99 ± 0.08b 94.75 ± 5.25 2.54 ± 0.39ab 0.29 ± 0.01
4 10.23 ± 0.10 15.41 ± 0.55b 51.16 ± 5.58b 0.98 ± 0.10b 100.00 ± 00 2.17 ± 0.16a 0.27 ± 0.01
8 10.24 ± 0.12 15.51 ± 0.22b 51.89 ± 1.79b 0.99 ± 0.03b 95.00 ± 5.00 2.60 ± 0.62ab 0.28 ± 0.01

3
�(�3>( ns p<0.05 p<0.05 p<0.05 ns p<0.05 ns
������"�%� ns ns ns ns ns ns ns
3
�(�3>(×
������"�%�

ns ns ns ns ns ns ns

1	�
���%"#������
�,A�3$��!�"#�±3$���"#�����(�	�G�� ���	�

�$�� 5 =���
	�
���0���(1-%"#��������
�
��H�	$����� ("3
�(�	�	$�����
�$��("������3��%���4�	�%"#�����3
�(�92#
(�#� 95 �,
�-�=>�	- (p<0.05)

51



52

3.2.2 ,��(�B�
��(>���2
��
( ��*�3�����,�	"� 0�������2
��
�������
%"#��"���
0�3
�(�3>( 2 ."."%" ��� 25 ."."%"

'����
��3��� -
�3-,���
���2
��
�������
 %"#&�����
� ��%��
� 3 �*	� ����
�
�� 6 ��,�� - .�
$�&($("3
�(�	�	$�����%���4�	� (p>0.05) �
�,��(�B�(>���2
��
(0�%��9��
���%��
� ����0�	����%"# 17 ���������
%"#��"���0�3
�(�3>( 2 ."."%" (",��(�B�
��(>���2
��
(

�*$�� 
$�� 65.19±9.78-70.25±13.42 (×105 �=��-	$
(������	�) ���������
%"#��"���0�3
�(�3>( 25 ."
."%" (",��(�B�(>���2
��
(
�*$�� 
$�� 73.44±13.14-83.07±25.66 (×105 �=��-	$
(������	�)

,��(�B��*�3�0�������2
��
�������
 .�
$�&($("3
�(�	�	$���
�,��(�B��*�3�
0�������2
�0�%��9�����%��
� (p>0.05) (	����%"# 17) ���������
%"#��"���0�3
�(�3>( 2 ."."%" ("
,��(�B��*�3�0�������2
�
�*$�� 
$�� 17.49±2.25-19.67±6.11 (�������(�,
�-�=>�	- ���������
%"#
��"���0�3
�(�3>( 25 ."."%" (",��(�B��*�3�0�������2
�
�*$�� 
$�� 18.22±2.19-20.44±3.39 
(�������(�,
�-�=>�	-

,��(�B�
��,�	"�0�������2
��
�������
 .�
$�&($("3
�(�	�	$���
�,��(�B
�
��,�	"�0�������2
�0�%��9�����%��
� (p>0.05) (	����%"# 17) ���������
%"#��"���0�3
�(�3>( 2 
."."%" (",��(�B�,�	"�
�*$�� 
$�� 163.65±18.27-175.79±14.91 (�������(	$
��	� ���������
%"#��"���
0�3
�(�3>( 25 ."."%" (",��(�B�,�	"�
�*$�� 
$�� 170.00±8.10-172.50±15.63 (�������(	$
��	�



53

�
�
���� 17 ,��(�B�
��(>���2
��
( ��*�3� ����,�	"�0�������2
� 0�������2
��
�������
%"#��"���
     0�3
�(�3>( 2 ."."%" ��� 25 ."."%"1  

3
�(�3>(
(."."%")

������"�%�
(�,
�-�=>�	-)

,��(�B�(>���2
��
(
(×105 �=��-	$
(������	�)

��*�3�0�������2
�
((�������(�,
�-�=>�	-)

�,�	"�0�������2
�
((�������(	$
��	�)

2 0 65.18 ± 9.78 17.49 ± 2.25 164.08 ± 13.58
4 70.25 ± 13.42 19.67 ± 6.11 175.79 ± 14.92
8 67.88 ± 17.63 19.32 ± 11.81 163.65 ± 18.27

25 0 73.30 ± 16.46 20.44 ± 3.39 170.92 ± 18.99
4 73.44 ± 13.14 18.22 ± 2.19 172.50 ± 15.63
8 83.07 ± 25.66 19.73 ± 5.38 170.00 ± 8.10

3
�(�3>( ns ns ns
������"�%� ns ns ns
3
�(�3>(×
������"�%�

ns ns ns

1	�
���%"#������
�,A�3$��!�"#�±3$���"#�����(�	�G�� ���	�

�$�� 5 =���
3$��!�"#�0���(1-%"#("	�

��H�	$����������� ("3
�(�	�	$�����%���4�	�%"#�����3
�(�92#
(�#�
95 �,
�-�=>�	- (p<0.05)
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3.2.3 

��(����	"� �=��"�( ����.�%��="�(0�������2
��
�������
%"#��"���0�
3
�(�3>( 2 ."."%" ��� 25 ."."%"



��(����	"��
�������
 .�
$�3
�(�3>(("'�	$
,��(�B

��(����	"��
�������
 
(	����%"# 18) ���("3
�(�	�	$�����%���4�	� (p<0.05) �	$&($.�
$�("3
�(�	�	$������� 
$�����
����( �"�%�%"#�����	$�� F ���������
%"#��"���0�3
�(�3>( 25 ."."%" (",��(�B

��(����	"��*��
$�����
��
%"#��"���0�3
�(�3>( 2 ."."%" =/#�("3$�
�*$�� 
$�� 734.50±13.44 -757.00±0.00 (����

��(�	$

��	� ��� 633.50±31.82-654.50±10.61 (����

��(�	$
��	� 	�(������ ����(2#

��3��� -3$�� 
��(.��Y-���
.�
$�3
�(�3>(("'�	$
,��(�B�
�

��(����	"� (p<0.01) ���3
�(�3>(%"#�*��/��("'�
0 �3$�

��(����	"��.�#(�*��/�� (0.956)

�=��"�(�
�������
 .�
$�(",[���(.��Y-����� 
$��3
�(�3>(���������
��"�%� 
(	����%"# 18) �	$�(2#
���(�
��3��� -3$�� ��(.��Y-���
.�
$�3
�(�3>(("'�	$
,��(�B�=��"�( (p
<0.01) ���3
�(�3>(%"#�*��/��("'�0 �3$��=��"�(�*��/��	�(��
� (0.907) ���������
%"#��"���0�3
�(
�3>( 25 ."."%" (",��(�B�
��=��"�(�*��
$�������
%"#��"���0�3
�(�3>( 2 ."."%" ���("3
�(�	�	$�����
%���4�	� (p<0.05) =/#�������
%"#��"���0�3
�(�3>( 25 ."."%" (",��(�B�=��"�(�*��
$�������
%"#��"���0�
3
�(�3>( 2 ."."%" ���("3$�
�*$�� 
$�� 327.50±2.12-332.00±2.83 (�����(�	$
��	� ��� 254.50±
10.611-290.00±8.49 (�����(�	$
��	� 	�(������

�.�%��="�(�
�������
 .�
$�3
�(�3>(("'�	$
,��(�B�.�%��="�(�
�������
 
���("3
�(�	�	$�����%���4�	� (p<0.05) (	����%"# 18) �	$&($.�
$�("3
�(�	�	$������� 
$�����
����(�"�%�%"#�����	$�� F ���������
%"#��"���0�3
�(�3>( 25 ."."%" (",��(�B�.�%��="�(�*��
$�����
��
%"#��"���0�3
�(�3>( 2 ."."%" ���("3$�
�*$�� 
$�� 8.64±0.61-8.78±0.04 (����

��(�	$
��	� ��� 
7.39±0.47-7.92±0.51 (����

��(�	$
��	� 	�(������ ����(2#

��3��� -3$�� ��(.��Y-���
.�
$�
3
�(�3>(("'�	$
,��(�B�.�%��="�( (p<0.01) ���3
�(�3>(%"#�*��/��("'�0 �3$��.�%��="�(�.�#(
�*��/��	�(&,��
� (0.840)
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�
�
���� 18 ,��(�B

��(����	"� �=��"�(����.�%��="�(0�������2
��
�������
%"#��"���0�3
�(
      �3>( 2 ."."%" ��� 25 ."."%"1

3
�(�3>(
(."."%")

������"�%�
(�,
�-�=>�	-)



��(����	"�
((����

��(	$
��	�)

�=��"�(
((�����(�	$
��	�)

�.�%��="�(
((�����(�	$
��	�)

2 0 633.50 ± 31.82a 284.50 ± 7.78b 7.92 ± 0.51abc

4 649.50 ± 13.44a 290.00 ± 8.49b 7.39 ± 0.47a

8 654.50 ± 10.61a 254.50 ± 10.61a 7.64 ± 0.39ab

25 0 757.00 ± 0.00b 332.00 ± 2.83c 8.78 ± 0.04c

4 734.50 ± 13.44b 328.00 ± 8.49c 8.64 ± 0.61bc

8 735.00 ± 0.00b 327.50 ± 2.12c 8.76 ± 0.37bc

3
�(�3>( p<0.05 p<0.05 p<0.05
������"�%� ns p<0.05 ns
3
�(�3>(×
������"�%�

ns p<0.05 ns

1	�
���%"#������
�,A�3$��!�"#�±3$���"#�����(�	�G�� ���	�

�$�� 2 =���
3$��!�"#�0���(1-%"#("	�

��H�	$����������� ("3
�(�	�	$�����%���4�	�%"#�����3
�(�92#
(�#�
95 �,
�-�=>�	- (p<0.05)

 (��� 	� 3$�

��(����	"��
����� 2 ."."%" �%$����    67  (����

��(�	$
��	�
        25 ."."%" �%$����  745  (����

��(�	$
��	�

3$��.�%��="�(�
����� 2 ."."%" �%$����   < 2   (�����(�	$
��	�
        25 ."."%" �%$����   8.2    (�����(�	$
��	�

3$��=��"�(�
�����          2 ."."%" �%$���� < 10  (�����(�	$
��	�
        25 ."."%" �%$����   306   (�����(�	$
��	�
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3.2.4 ,��(�B�(>���2
��
( ��*�3�����,�	"�0�������2
� 0�������2
��
�������

�������,�"#���,��3
�(�3>(��� 2 ."."%" �,A� 40 ."."%" %"#�����
�� 3, 6 ��� 12 9�#
�(�

,��(�B�(>���2
��
(�
�������
 .�
$�(",[���(.��Y-����� 
$��������
��"�%� 
����
�� (p<0.05) (	����%"# 19) ���,��(�B�(>���2
��
(�
�������
%"#&�����
� ��9��3
�3�( %"#
�
�� 12 9�#
�(� (",��(�B	#�����32
 45.57±13.68 (×105 �=��-	$
(������	�) �	$.�
$�,��(�B�(>���2
�
�
(�
�������
%"#&������"�%� 4 �,
�-�=>�	- %"#�
�� 12 9�#
�(� (",��(�B�*����32
 90.00±15.61 (×105

�=��-	$
(������	�)
,��(�B��*�3�0�������2
��
�������
 .�
$��
��("'�	$
,��(�B��*�3��
�����

��
 (p<0.05) (	����%"# 19) �	$&($.�
$��������(�"�%�%"#�����	$�� F ���("'�	$
,��(�B��*�3� 
 �������,�"#���,��3
�(�3>( �(2#
���3$�%"#&��(�
��3��� -3$�� ��(.��Y-.�
$��
��("'�	$
,��(�B
��*�3� (p<0.01) =/#��
���.�#(�*��/���>��%��0 �,��(�B��*�3��.�#(�*��/�� (0.442) ���%"# 12 9�#
�(�
.�
$�,��(�B��*�3�0�������2
��
�������
9��%"#&�����
� ���*	�3
�3�((",��(�B��*�3��*����32
 
32.82±8.29 (�������(�,
�-�=>�	- �	$������
%"#&������"�%� 4 �,
�-�=>�	-(",��(�B��*�3�	#�����32
 
26.63±7.47 (�������(�,
�-�=>�	-

,��(�B�
��,�	"�0�������2
��
�������
 .�
$��
��("'�	$
,��(�B�,�	"��
�
������
 (p<0.05) (	����%"# 19) �	$&($.�
$��������(�"�%�%"#�����	$�� F ���("'�	$
,��(�B�,�	"� 
 ������("����,�"#���,��3
�(�3>( �(2#
���3$�%"#&��(�
��3��� -3$�� ��(.��Y-.�
$��
��("'�	$

,��(�B�,�	"� (p<0.01) ����(2#
�
���.�#(�/���>��%��0 �,��(�B�
��,�	"����� (-0.670) ���%"# 12 
9�#
�(�.�
$�,��(�B�
��,�	"�0�������2
��
�������
%"#&�����
� ��0��*	�3
�3�((",��(�B
�,�	"�	#�����32
 104.64±15.03 (�������(	$
��	� �	$������
%"#&������"�%� 8 �,
�-�=>�	- (",��(�B
�,�	"�0�������2
��*����32
 111.53±20.38 (�������(	$
��	�
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�
�
���� 19 ,��(�B�(>���2
��
( ��*�3� ����,�	"�0�������2
��
�����,�"#���,��3
�(�3>(���      
     2 ."."%" �,A� 40 ."."%" 0������
��%"#�	�	$�����1

������"�%�
(�,
�-�=>�	-)

�
��
(9�#
�(�)

,��(�B�(>���2
��
(
(×105 �=��-	$
(������	�)

��*�3�0�������2
�
((�������(�,
�-�=>�	-)

�,�	"�0�������2
�
((�������(	$
��	�)

0 0 65.19 ± 9.78b 17.49 ± 2.25a 164.08 ± 13.58b

3 88.20 ± 13.47c 29.43 ± 7.15bc 100.18 ± 13.29a

6 76.75 ± 17.09bc 25.41 ± 4.95abc 103.98 ± 8.55a

12 45.57 ± 13.68a 32.82 ± 8.29c 104.64 ± 15.03a

4 0 70.25 ± 13.42bc 19.67 ± 6.11ab 175.79 ± 14.92b

3 88.64 ± 21.32c 28.83 ± 11.67abc 114.69 ± 11.28a

6 80.08 ± 19.06bc 28.26 ± 6.95abc 108.34 ± 16.38a

12 90.00 ± 15.61c 26.63 ± 7.47abc 108.47 ± 19.31a

8 0 67.88 ± 17.63bc 19.32 ± 11.81ab 163.65 ± 18.27b

3 89.64 ± 29.64c 28.74 ± 6.54abc 100.31 ± 8.97a

6 68.30 ± 10.16bc 31.70 ± 5.38c 106.88 ± 18.09a

12 72.33 ± 17.85bc 29.08 ± 9.89bc 111.53 ± 20.38a

������"�%� p<0.05 ns Ns
�
�� p<0.05 p<0.05 p<0.05
������"�%�×
�
��

p<0.05 ns ns

1	�
���%"#������
�,A�3$��!�"#�±3$���"#�����(�	�G�� ���	�

�$�� 5 =���
3$��!�"#�0���(1-%"#("	�

��H�	$����������� ("3
�(�	�	$�����%���4�	�%"#�����3
�(�92#
(�#�
95 �,
�-�=>�	- (p < 0.05)
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3.2.5 ,��(�B�(>���2
��
( ��*�3�����,�	"�0�������2
��
�������
 ����,�"#��
�,��3
�(�3>(��� 25 ."."%" �,A� 2 ."."%" 0������
��%"#�	�	$�����

,��(�B�(>���2
��
(�
�������
 .�
$��
�����������
��"�%�("'�	$
,��(�B
�(>���2
��
( (p<0.05) (	����%"# 20) ���%"#�
�� 12 9�#
�(� ,��(�B�(>���2
��
(�
�������
%"#&�����

� ��0�9��3
�3�( (",��(�B�(>���2
��
(	#�����32
 71.67±16.36 (×105 �=��-	$
(������	�) �	$����
��
%"#&������"�%� 8 �,
�-�=>�	- (",��(�B�(>���2
��
(�*����32
 100.00±21.29 (×105 �=��-	$

(������	�) ����(2#
���3$�(�
��3��� -3$�� ��(.��Y-.�
$� ������
��"�%�("'�	$
,��(�B�
��(>�
��2
��
(�
�������
 (p<0.01) ����(2#
������"�%�%"#�.�#(�*��/��("'�0 �,��(�B�(>���2
��
(�
�����
��
�.�#(�*��/�� (0.467)

,��(�B��*�3�0�������2
��
�������
 .�
$��
�����������
��"�%�("'�	$

,��(�B�(>���2
��
( (p<0.05) (	����%"# 20) ���%"#�
�� 12 9�#
�(� ,��(�B��*�3��
�������
%"#&��
���
� ��9��3
�3�((",��(�B�*����32
 37.76±7.62 (�������(�,
�-�=>�	- �	$������
%"#&������"�%� 4 
�,
�-�=>�	- (",��(�B��*�3�	#�����32
 31.53±6.77 (�������(�,
�-�=>�	- �(2#
���(�
��3��� -3$�� 
��(.��Y-.�
$� �
��("'�	$
,��(�B��*�3� (p<0.01) ����(2#
�
���.�#(�*��/��("'�0 �,��(�B��*�3�
�.�#(�*��/�� (0.596)

,��(�B�,�	"�0�������2
��
�������
 .�
$��
�����������
��"�%�("'�	$

,��(�B�(>���2
��
( (p<0.05) (	����%"# 20) ���%"#�
�� 12 9�#
�(� ,��(�B�,�	"�0�������2
��
�
������
9��3
�3�((",��(�B�*����32
 209.57±15.19 (�������(	$
��	� �	$������
%"#&������"�%� 8 
�,
�-�=>�	- (",��(�B�
��,�	"�	#�����32
 187.57±12.00 (�������(	$
��	� �(2#
���(�
��3��� -3$�� 
��(.��Y-.�
$�������
��"�%�("'�	$
,��(�B�,�	"�0�������2
� (p<0.05) ���������
��"�%�%"#�*�
�/��("'�0 �,��(�B�,�	"�0�������2
����� (-0.233) �
(%����
��("'�	$
,��(�B�,�	"�0�������2
� 
(p<0.01) ����(2#
�
���.�#(�*��/��%��0 �,��(�B�,�	"��.�#( (0.408)
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�
�
���� 20 ,��(�B�(>���2
��
( ��*�3�����,�	"�0�������2
��
�������
 ����,�"#���,��3
�(
      �3>(��� 25 ."."%" �,A� 2 ."."%" 0������
��%"#�	�	$�����1  

������"�%�
(�,
�-�=>�	-)

�
��
(9�#
�(�)

,��(�B�(>���2
��
(
(×105 �=��-	$
(������	�)

��*�3�0�������2
�
((�������(�,
�-�=>�	-)

�,�	"�0�������2
�
((�������(	$
��	�)

0 0 74.30 ± 16.46ab 20.44 ± 3.39ab 170.92 ± 18.99a

3 76.33 ± 20.39ab 38.29 ± 13.41c 209.00 ± 9.48bc

6 61.00 ± 8.19a 34.69 ± 0.00c 215.95 ± 10.53c

12 71.67 ± 16.36ab 37.76 ± 7.62c 209.57 ± 15.19bc

4 0 73.44 ± 13.14ab 18.22 ± 2.19a 172.50 ± 15.63a

3 128.88 ± 9.89d 19.14 ± 3.77a 208.69 ± 22.14bc

6 86.90 ± 31.17abc 26.53 ± 0.00abc 209.18 ± 21.85bc

12 72.67 ± 11.09ab 31.53 ± 6.77bc 191.31 ± 25.89ab

8 0 83.07 ± 25.66abc 19.73 ± 5.38ab 170.00 ± 8.10a

3 139.38 ± 17.86d 27.55 ± 0.00abc 196.31 ± 25.47bc

6 111.50 ± 35.51cd 35.71 ± 15.56c 192.86 ± 12.37abc

12 100.00 ± 21.29bc 35.71 ± 13.81c 187.57 ± 12.00ab

������"�%� p<0.05 p<0.05 p<0.05
�
�� p<0.05 p<0.05 p<0.05
������"�%�×
�
��

ns ns ns

1	�
���%"#������
�,A�3$��!�"#�±3$���"#�����(�	�G�� ���	�

�$�� 5 =���
3$��!�"#�0���(1-%"#("	�

��H�	$����������� ("3
�(�	�	$�����%���4�	�%"#�����3
�(�92#
(�#�
95 �,
�-�=>�	- (p < 0.05)   
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3.2.6 ,��(�B

��(����	"� �.�%��="�( ����=��"�(0�������2
��
�������
 ���
�,�"#���,��3
�(�3>(��� 2 ."."%" �,A� 40 ."."%" 0������
��%"#�	�	$�����   

,��(�B

��(����	"��
�������
 .�
$�������
��"�%�����
��(",[���(.��Y-��� 
(p<0.05) (	����%"# 21) ���%"# 12 9�#
�(� ,��(�B

��(����	"��
�������
%"#&������"�%� 8 �,
�-�=>�	- 
(",��(�B	#�����32
 1,095.50±54.45 (����

��(�	$
��	� ���,��(�B

��(����	"��
�������
%"#&��
����"�%� 4 �,
�-�=>�	- (",��(�B�*����32
 1,216.00±28.28 (����

��(	$
��	� ����(2#
���(�

��3��� -3$�� ��(.��Y- .�
$��
��("'�	$
,��(�B�
�

��(����	"� (p<0.01) ����(2#
�
���.�#(�*�
�/��("'�0 �,��(�B

��(����	"��.�#(�*��/�� (0.915) �(2#
("����,�"#���,��3
�(�3>(��� 2 ."."%" �,A� 
40 ."."%"

,��(�B�.�%��="�(�
�������
 .�
$��
��("'�	$
,��(�B�.�%��="�( (p<0.05) 
(	����%"# 21) ���%"# 12 9�#
�(� ,��(�B�.�%��="�(�
�������
%"#&�����
� ��0�9��3
�3�(("
,��(�B�.�%��="�(	#�����32
 8.12±0.19 (�����(�	$
��	� ���������
%"#&������"�%� 4 �,
�-�=>�	-("
,��(�B�.�%��="�(�*����32
 9.63±0.99 (�����(�	$
��	� ����(2#
���(�
��3��� -3$�� ��(.��Y-.�

$��
��("'�	$
,��(�B�.�%��="�( (p<0.01) ����(2#
�
���.�#(�*��/��("'�0 �,��(�B�.�%��="�(
�.�#(�*��/�� (0.601) �(2#
("����,�"#���,��3
�(�3>(��� 2 ."."%" �,A� 40 ."."%"

,��(�B�=��"�(�
�������
 .�
$�������
��"�%�����
��(",[���(.��Y-��� (p
<0.05) (	����%"# 21) ���%"# 12 9�#
�(� ,��(�B�=��"�(�
�������
%"#&������"�%� 8 �,
�-�=>�	- ("
,��(�B�=��"�(	#�����32
 520.00±33.94 (�����(�	$
��	� ���������
%"#&������"�%� 4 �,
�-�=>�	-("
,��(�B�=��"�(�*����32
 573.00±29.69 (�����(�	$
��	� ����(2#
���(�
��3��� -3$�� ��(.��Y-.�

$��
��("'�	$
,��(�B�=��"�( (p<0.01) ����(2#
�
���.�#(�*��/��("'�0 �,��(�B�=��"�(�.�#(�*��/�� 
(0.894) �(2#
("����,�"#���,��3
�(�3>(��� 2 ."."%" �,A� 40 ."."%"
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�
�
���� 21 ,��(�B

��(����	"� �.�%��="�( ����=��"�(0�������2
��
�������
 ����,�"#���,��
     3
�(�3>(��� 2 ."."%" �,A� 40 ."."%" 0������
��%"#�	�	$�����1   

������"�%�
(�,
�-�=>�	-)

�
��
(9�#
�(�)



��(����	"�
((����

��(	$
��	�)

�.�%��="�(
((�����(�	$
��	�)

�=��"�(
((�����(�	$
��	�)

0 0 633.50 ± 31.82a 7.92 ± 0.51ab 284.50 ± 7.78a

3 998.50 ± 19.09bc 7.83 ± 0.05ab 481.00 ± 15.56cd

6 1026.50 ± 23.33cd 8.49 ± 0.08abc 495.00 ± 15.56cd

12 1144.00 ± 15.56f 8.12 ± 0.19ab 538.00 ± 5.66de

4 0 649.50 ± 13.44a 7.39 ± 0.47a 290.00 ± 8.49a

3 946.00 ± 11.31b 8.47 ± 0.21abc 412.00 ± 59.39b

6 1073.50 ± 37.48de 8.65 ± 0.41bc 524.00 ± 16.97cde

12 1216.00 ± 28.28g 9.63 ± 0.99c 573.00 ± 29.69e

8 0 654.50 ± 10.61a 7.64 ± 0.39ab 254.50 ± 10.61a

3 1011.50 ± 21.92cd 7.89 ± 0.59ab 480.00 ± 11.31c

6 1025.00 ± 25.46cd 8.25 ± 0.84ab 485.00 ± 7.07cd

12 1095.50 ± 54.45ef 8.34 ± 0.09ab 520.00 ± 33.94cde

������"�%� Ns ns ns
�
�� p<0.05 p<0.05 p<0.05
������"�%�×
�
��

p<0.05 ns p<0.05

1	�
���%"#������
�,A�3$��!�"#�±3$���"#�����(�	�G�� ���	�

�$�� 2 =���
3$��!�"#�0���(1-%"#("	�

��H�	$����������� ("3
�(�	�	$�����%���4�	�%"#�����3
�(�92#
(�#�
95 �,
�-�=>�	- (p < 0.05)

 (��� 	� 3$�

��(����	"��
����� 40 ."."%" �%$���� 1,230 (����

��(�	$
��	�
3$��.�%��="�(�
����� 40 ."."%" �%$����  7.85 (�����(�	$
��	�
3$��=��"�(�
����� 40 ."."%" �%$����  554  (�����(�	$
��	�
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3.2.7 ,��(�B

��(����	"� �.�%��="�( ����=��"�(0�������2
��
�������
 ���
�,�"#���,��3
�(�3>(��� 25 ."."%" �,A� 2 ."."%" 0������
��%"#�	�	$�����   

,��(�B

��(����	"��
�������
 .�
$��
��("'�	$
,��(�B�
�

��(����	"� (p
<0.05) (	����%"# 22) ���%"# 12 9�#
�(� ,��(�B�
�

��(����	"��
�������
%"#&������"�%� 8 
�,
�-�=>�	- (",��(�B	#�����32
 527.00±14.14 (����

��(�	$
��	� ���,��(�B�
�

��(����	"�
�
�������
%"#&�����
� ���*	�3
�3�((",��(�B

��(����	"��*����32
 554.50±0.71 (����

��(�
	$
��	� ����(2#
���3$�(�
��3��� -3$�� ��(.��Y-.�
$��
��("'�	$
,��(�B

��(����	"� (p<0.01) 
����(2#
�
���.�#(�*��/��("'�0 �,��(�B

��(����	"����� (-0.931)

,��(�B�.�%��="�(�
�������
 .�
$��
��("'�	$
,��(�B�.�%��="�( (p<0.05) 
(	����%"# 22) ���%"# 12 9�#
�(� ,��(�B�.�%��="�(�
�������
%"#&������"�%� 4 �,
�-�=>�	- ("
,��(�B	#�����32
 4.59±0.12 (�����(�	$
��	� ���,��(�B�.�%��="�(�
�������
%"#&������"�%�      
8 �,
�-�=>�	- (",��(�B�.�%��="�(�*����32
 5.29±0.41 (�����(�	$
��	� ����(2#
���3$�(�
��3��� -
3$�� ��(.��Y-.�
$��
��("'�	$
,��(�B�.�%��="�( (p<0.01) ����(2#
�
���.�#(�*��/��("'�0 �
,��(�B�.�%��="�(���� (-0.766)

,��(�B�=��"�(�
�������
 .�
$�������
��"�%�����
��(",[���(.��Y-��� (p
<0.05) (	����%"# 22) ���%"# 12 9�#
�(� ,��(�B�=��"�(�
�������
%"#&������"�%� 8 �,
�-�=>�	- ("
,��(�B	#�����32
 232.00±2.83 (�����(�	$
��	� ���,��(�B�=��"�(�
�������
%"#&������"�%� 4 
�,
�-�=>�	-���
� ���*	�3
�3�((",��(�B�*����32
 245.00±1.41 (�����(�	$
��	� ����(2#
���3$�
(�
��3��� -3$�� ��(.��Y-.�
$��
��("'�	$
,��(�B�=��"�( (p<0.01) ����(2#
�
���.�#(�*��/��("'�
0 �,��(�B�=��"�(���� (-0.849)
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�
�
���� 22 ,��(�B

��(����	"� �.�%��="�( ����=��"�(0�������2
��
�������
 ����,�"#���,��
     3
�(�3>(��� 25 ."."%" �,A� 2 ."."%" 0������
��%"#�	�	$�����1   

������"�%�
(�,
�-�=>�	-)

�
��
(9�#
�(�)



��(����	"�
((����

��(	$
��	�)

�.�%��="�(
((�����(�	$
��	�)

�=��"�(
((�����(�	$
��	�)

0 0 757.00 ± 0.00e 8.78 ± 0.04b 332.00 ± 2.83e

3 624.00 ± 14.14d 5.19 ± 0.02a 259.50 ± 9.19cd

6 560.00 ± 2.83abc 4.39 ± 0.35a 219.00 ± 8.49a

12 554.50 ± 0.71abc 4.82 ± 0.05a 245.00 ± 1.41bc

4 0 734.50 ± 13.44e 8.64 ± 0.61b 328.00 ± 8.49e

3 621.00 ± 21.21d 5.52 ± 0.47a 267.00 ± 5.66d

6 574.50 ± 30.41bc 6.18 ± 2.44a 228.50 ± 3.54a

12 547.00 ± 1.41ab 4.59 ± 0.12a 245.00 ± 1.41bc

8 0 735.00 ± 0.00e 8.76 ± 0.34b 327.50 ± 2.12e

3 614.50 ± 31.82d 5.44 ± 0.76a 263.50 ± 13.44d

6 590.00 ± 7.07cd 4.71 ± 0.27a 254.00 ± 8.49cd

12 527.00 ± 14.14a 5.29 ± 0.41a 232.00 ± 2.83ab

������"�%� ns ns ns
�
�� p<0.05 p<0.05 p<0.05
������"�%�×
�
��

ns ns p<0.05

1	�
���%"#������
�,A�3$��!�"#�±3$���"#�����(�	�G�� ���	�

�$�� 2 =���
3$��!�"#�0���(1-%"#("	�

��H�	$����������� ("3
�(�	�	$�����%���4�	�%"#�����3
�(�92#
(�#�
95 �,
�-�=>�	- (p < 0.05)

 (��� 	� 3$�

��(����	"��
����� 2 ."."%" �%$����  67 (����

��(�	$
��	�
3$��.�%��="�(�
����� 2 ."."%" �%$���� < 2 (�����(�	$
��	�
3$��=��"�(�
����� 2 ."."%" �%$���� < 10 (�����(�	$
��	�


